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Arithmetic Sequences and Series 1

Kia mahara ake:

The nth term in an arithmetic sequence is illustrated by 
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where a is the 1st term in the sequence and d is the fixed difference (common difference) between consecutive terms.

The sum for an arithmetic sequence to the nth term is illustrated by 
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, where a is the 1st term in the sequence and d is the fixed difference (common difference) between consecutive terms; and n is the number of terms.

Another equivalent formula is 
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, where l is the last term.

Hei Mahi (I)

(a)

Find the sum for the first 10 terms in the series

	1)
	-12, -15, -18, -21, -24, …

	2)
	6, 7, 8, 9, 10, …

	3)
	5, -4, -13, -22, -31, …

	4)
	-6, 1, 8, 15, 22, …

	5)
	2, 10, 18, 26, …


(e)

Write the term for the nth of the sequence, then find the 20th term.

	1)
	1, 6, 11
	2)
	12, 6, 0

	3)
	101, 108, 115
	4)
	-10, -5, 0

	5)
	1000, 800, 600
	6)
	3.2, 4.0, 4.8

	7)
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	9)
	7.05, 7.21, 7.37
	10)
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NGĀ WHAKAUTU

Hei Mahi (I)

(a)

	1)
	-255

	2)
	105

	3)
	-355

	4)
	319

	5)
	380


(e)

	1)
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	2)
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	3)
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	4)
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	5)
	
[image: image21.wmf]n

t

= -200n + 1200
	
[image: image22.wmf]20

t

= -2800

	6)
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